Data Analysis & Decision Making, 4e
Albright, Winston, Zappe

We tried to find all the typos, bad numbers, wrong solutions, and so forth, but with so many details, we missed a few. As we (or you) find errors, we'll list them on this page by chapter. Note that if there is an error in a solution file for some problem, we will try to indicate a way to fix the error without "giving away" the solution to students who might be reading this page. The date of the correction is shown in parentheses.
[bookmark: Ch1]Chapter 1
1. [bookmark: Ch2](5/3/2013) In equation (1.2) on page 12, the subscript on b should be i, not j.
Chapter 2 
1. [bookmark: Ch3](9/6/2010) In Figure 2.10 on page 35, the interquartile range in cell F3 is wrong; it should be $3,817,950. The same error is in the finished version of the Baseball Salaries 2009 file.
1. (2/5/2012) Problem 31 on page 66 mentions a “four-year period.” It should state “many years.”
1. (2/19/2013) As one observant student discovered, the data in the problem file P02_07.xlsx are not internally consistent. There are employees with ages that are way too young for their years of work experience. I won’t change the data set for the 4th edition, but it will be changed in the 5th edition.
1. (9/22/2011) Table 2.1 on page 81 is wrong, which makes the case undoable. There is no accompanying file for the case, but the table should be the following:

	Miller
	Budweiser
	Coors
	Michelob
	Heineken
	Old Milwaukee
	Rolling Rock
	Any

	6.77
	6.62
	6.64
	7.11
	7.29
	7.30
	7.17
	4.71


1.  (4/3/2013) Problem 14 on page 56 requests a box plot for a data set with over 14,000 records. Unfortunately, StatTools has a bug that prevents this – it fails to create a box plot when there are too many outliers (>64). Palisade is aware of this bug and has promised a fix.
1. (8/26/2013) In the first line on page 42, a word is missing. It should read “… which automatically means that there can be no salaries…”
[bookmark: Ch4]Chapter 3
Chapter 4 
1. [bookmark: Ch5](6/25/2013) Amazingly, no one caught this until now, but in equation 4.8 on page 168, the left side should obviously be “sigma,” not “sigma-squared.”
1. (7/15/2014) On page 171, the second line of the calculation for Var(X) should start with “+ 0.3”, not “+ 0.2”. However, the result of the calculation, and the implementation in the referenced Excel file, are both correct.
Chapter 5
1. [bookmark: Ch6](9/8/2010) In Equation 5.2 on page 214, m and s should be replaced by their Greek counterparts. (This was done in later printings of the book.)
1. (9/19/2010) The third equation for step 2 on page 246 is missing a “<” sign. It should read =IF(RAND()<C18,1,0).
Chapter 6 
1. [bookmark: Ch7](9/26/2011) In the numerator of the second equation on page 305, the second term should be P(ND), not P(D). But the numbers to the right of it are correct.
1. (12/5/2011) The solution file for problem 55 on page 338 has an error in cell B15. The result in this cell should be 0.385. This changes the results in the text box slightly. 
1. (2/16/2012) In equation 6.3 on page 304, there shouldn’t be a subscript n in the last term of the denominator.
Chapter 7 
1. [bookmark: Ch8](5/18/2011) In the solution to problem 8, the last yellow cell should have the square root of n in the denominator.
Chapter 8 
1. [bookmark: Ch9](5/18/2011) In the solution to problem 12, the confidence level for the total should be changed to 95%. Nothing else changes.
Chapter 9 
[bookmark: Ch10]Chapter 10 
[bookmark: Ch11]Chapter 11 
1. [bookmark: Ch12](12/6/2011) There are some cell reference errors in the paragraph below Figure 11.12 on page 632. The fourth line should reference row 31, not 33. The eighth line should reference cell B31, not B32. Finally, the reference in the following formula and in the line after it should be Regression1!C14, not Regression1!C13. This error is also in the Bank Salaries file. It changes the F ratio to 17.265 in Figure 11.13, but the p-value is still negligible.
1. (12/3/2014) The solution to problem 12 on page 615 is wrong. Instructors can request the correct solution if necessary.
Chapter 12 
1. [bookmark: Ch13] (5/18/2011) In the formula in the middle of page 726, Dec2010 should be changed to Dec2008 in the denominator.
1. (2/21/2012) The StatTools data set used to create the output for Example 12.7 on pages 730-732 included too many rows, so the percentages quoted at the bottom of page 730 and some of the values in Figures 12.61 and 12.62 are slightly off. If you redefine the StatTools data set to extend only through row 57 and rerun the regression, you will get the correct values.
1. (5/22/2012) I’m surprised that no one has caught this, but I just caught it while preparing the 5th edition. The trendline equation on page 689 doesn’t match the regression equation on page 12.18! Here is the reason (it’s not a typo). The time series graph in Figure 12.19 uses the dates in column A of the Data sheet for the horizontal axis, and dates are really stored as integers, corresponding in this example to the first day of each month. (Try formatting column A of the Data sheet as numbers with zero decimals to see this.) The problem is that these numbers aren't equally spaced, due to different number of days in different months. So to make the trendline equation match the regression equation, the integers in column C of the Data sheet should be used for the horizontal axis. 
Chapter 13
1. [bookmark: Ch14](10/29/2010) On #39 on page 804, there is an inconsistency in the problem statement about the overtime rate -- $12 one place, $16 in another. The solution (for instructors) uses $16 throughout. Also on that same problem, you can assume that the holding cost is charged only on finished goods (shirts and pants), not on cloth.
1. (9/10/2011) In line 5 of the second full paragraph on page 794, change “if the forecasted demands” to “if the errors in the forecasted demands”. Also, it might be more realistic to vary the month 5 and 6 demands over a different range, say, from 6000 to 14000 in increments of 2000 (i.e., from 40% below to 40% above), but the basic result (month 1 production remains the same) still doesn’t change.
1. (10/21/2011) in the second sentence below Figure 13.29 on page 794, switch “the first six rows” and “the last six rows.” That is, the first six rows have to do with demands, and the last six have to do with storage capacities.
1. (10/25/2011) In the LP sheet in the solution file for Case 13.1, the labels in cells A21 and A22 should be reversed.
1. (11/27/2011) It’s not a big deal, but the intention was to show the isoprofit lines in Figure 13.1, page 751, as dotted lines.
Chapter 14 
1. [bookmark: Ch15][bookmark: Ch16](5/28/2013) In the first line of the Fundamental Insight on page 874, the algorithm is “branch and bound,” not “brand and bound.”
Chapter 15 
1. (2/18/2012) The equation for n near the top of page 582 should have 331.68, not 328.04, in the numerator, and the formula then evaluates to 2817, not 2755.
1. (10/1/2012) In Figure 15.37 on page 961, the summary results at the bottom are shown as identical for order quantities of 150 and 200. This is clearly not correct—the results for 150 (column B) are wrong. But they’re correct in the Walton Bookstore 6.xlsx file.
1. (5/13/2013) The solution to problem 27 has a minor error in the MAX formulas in row 21. Their arguments should extend only to row 19, not row 20.
Chapter 16
1. (11/8/2010) There is an ending quote sign in the second formula in step 4 on page 1000. It shouldn’t be there.
1. (11/8/2010) The third line on page 1001 should begin with “Not yet” (not “Not enough”).
1. (11/27/2011) In problem 63 in chapter 16, 2nd line from bottom on the left and 2nd line from top on the right, change “discontinue” to “continue”.
1. (4/25/2012) In the solutions to problems 16.10 and 16.11, the formulas in row 41 should be changed to match those in the cash balance example, i.e., the second sum should extend to row 39.
1. (2/23/2013) The solution to problem 16.5 on page 1004 is logically correct, but its inputs don’t match the inputs in Example 16.2. Specifically, the discount rate should be changed in all parts from 12% to 8%, the replacement cost to the company should be changed to $225, and the cost of a new camera to the customer should be changed to $400 (and the instruction in part a to increase the cost to $300 should be modified to $450).
1. (6/1/2013) For the cash balance example (Example 16.5), one user suggested that the formula for total interest in cell B46 should sum only through June, i.e., not include July. You could argue it either way, so feel free to change the formula in cell B46 if you like. 
Chapter 17 
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